Find the GCF of the given monomials.

1. 48, 64

Factor each polynomial, if possible, If the polynomial ca

4. 25p% — 49y?

6. x2 4 1dx + 24

8. a® ~ llab + 1£02

10. 2h% - 3p ~ 18

12, dmy — 20m + 3py ~ 15p
14. 36a%b3 — 450p1

16,

15a2b + 542 — 10g

&

@0, 452 — 10042

22. 3g% + g 4 1

Solve each equation. Check your solutions,

4. (dx~HBx+2) =0
26. 4x% = 36
28. 0% ~9g — 52 = ¢

30. 22 = 9x + 5

Solve,

32. Geometry A rectangle is 4 inches wide by
7inches long. When the length and width are
increased by the sarhe amount, the area is

creased by 26 square inches. What are the
dimensions of the new rectangle?
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2. 18a%, 28a3p2

3.

.

13.

15,

17.

19.

21.

23.

25.

27.

29,

3,

33.

c12x% 4 23 — 94

6x3 + 15x2 — 9y

xd e dn? — 9y 4 36
36m? + 60mn + 2502
64p? — 63p + 16

6y> ~ 5y — ¢

2d% 4 d — |

2xz+2yz~x—-y

1852 + 725 = @
24+ 25 = 10¢
X3 - 5x2 — 66x = 0

362 +6 = 115

Construction A rectangular lawn is 24 feet wide
by 32 feet long. A sidewalk will be built along the
inside edges of all four sides, The remaining lawn
will have an area of 425 $quare feet. How wide
will the walk be? ‘ ‘



oo REVIEW EXERCISES o Factor each polynomial.

Factor each trinomial, if possible. If the 25. 13x + 26y
trirromiaol cannot be factored using integers, 26. 6x%y + 12xy + 6
write prime.

27. 24a%b% - 18ab
37. 2+ Ty + 12

28. 26ab + 18ac +32a®

38. 2 - 9x - 36 29. 36p2¢ — 12pq
39. 622 + 7z + 3 30. a + a®b + a3p3
40‘ b2 _.{ Sb ;. 6 - R D

2 _ g,
41 2rc—3r-20 Factor each polynomial.

31. a? - dac + ab - 4be
32. 4rs + 12ps + 2mr + 6mp

Factor each polynomial, if possibl?. If the 33. 16R3 — 4k%p2 - 28kp + 7p3
polynomial cannot be factored using . dm+mr+Tr+d
integers, write prime. 35. 24am — 9an + 40bm ~ 15pn
43 2 —16 - 36. a® — a?b -+ ab? - B3

45. 16a? - 8104 ET -

46. 2y° — 128y

47. 90% — 20

1 9 9.
48. 4n® - T

Factor each polynomial, if possible. If the ¢
polynomial cannot be factored using \\
integers, write prime. '

49. a? + 18a + 81

50. 9%% — 12k + 4

51. 4 — 28r + 492

52. 32n% — 80n + 58

53. 663 ~ 24b%g + 24pg?
54. 49m® - 126m + 8

L S T Tan L .

Solve each equation. Check your solution.
56. y(y + 1D=0
57. 3x - DAx+ 7y =0

58, 2q2 -~ 9a =0 L
59. n? = —11n

3 1
60. Ty = *‘-.iyz

61. y2+ 13y +40=0
62. 2m 2 + 13m =24
63. 25r2 + 4= — 201 L




